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BERE 500< R4Bi—OH 80 250
ESE, PIVRKUNHIE 400< R4Sb—OH 60 250
—AsO3H,, >AsOzH 300 R4As—OH 40 250
—S0,—NH—CO—, —N=N-—NH, 260 R4P—OH 20 250
=>N+*—OH, —SOsH, —NHSO,—NH 250 —0—S0sH 20 220
—CO—NHCO—NHCO— 250 >S0; 40 170
=S—OH, —CONH—CONH— , SO,NH— 240 >S0 40 140
—CS—NH—, —CONH—CO— 230 —CSSH 100 80
=N—OH, —NHCONH— 220 —SCN 90 80
=N—NH—, —CONH—NH; 210 —CSOH , —COSH 80 80
—CONH— 200 —NCS 90 75
=N—-0 170 —Bi< 80 70
—COOH 150 —NO; 70 70
SO~V 120 —Sb< 60 70
—CO—0—CO— 110 —As< , —CN 40 70
PYURSEIR, DTFY LUK 105 —P< 20 70
—OH 100 —CSSo 130 50
>Hg (Bi#iEs 95 —CS0® , -COS® 80 50
—~NH—NH, —0—CO—0— 80 —NO 50 50
—N< , (—NHz, —NH®, —NH®,)PIUM 70 —0—NO; 60 40
>CO0 65 —NC 40 40
—CO0® , TPV, FUUK 60 —Sb=Sb— 90 30
>C=NH 50 —As=As— 60 30
—0—0— 40 —P=P—, —NCO— 30 30
~N=N-— 30 —0—NO, —SH, —S— 40 20
—0— 20 —1 80 10
NP (—RBEERR), EUIYVK 15 —Br 60 10
R (—RIFSBRBRERE) 10 =S 50 10
=EiE 3 —cl 40 10
“BiEE 2 —F 5 5
—(OCH:CHz)— , BL (818 75 Iso Uk > -10 0
Cloud point MTDIEE (MEDEE) (20) Tert Dl —— -20 0
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